REGER (BRER)

| ETH 4 | EXEH |
[#EERZI|  20:00 |
EXA
X% =8 X B
EXLUREEER 9,920 A 10,962 A 20,882 A
BEER 5373 A 6,014 X 11,387 A
MR LHEEERK 2,893 A 2,954 A 5,847 A
HBRTREER 2,406 A 2,959 A 5,365 A
TEEBREER 74 N 101 A 175 A
ZIEEH 4,547 N 4,948 A 9,495 X
BEE 54.16 % 54.86 % 54.53 %
=45
X% =8 X B
EXLUREEER 12 A 12 A 24 N
BEEH 0 A 0 A 0 A
MR LHEEERK 0 A 0 A 0 A
HAAREEY 0 A 0 A 0 A
THEEREER 0 A 0 A 0 A
ENSEREER 0 A 0 A 0 A
BESREER 0 A 0 A 0 A
ZIEEH 12 A 12 A 24 N
BEE 0.00 % 0.00 % 0.00 %
ER+7ES
X% =8 X B
EXLUREEER 9,932 A 10,974 A 20,906 A
BEER 5373 A 6,014 X 11,387 A
ZIEEH 4,559 X 4,960 A 9, 519 A
BEE 54.10 % 54.80 % 54. 47 %




